YOSHIMURA SLIP-ON YOSHIMURE
SUZUKI GSR600 ('06-) FHYI20ShIlMURA

EEC APPROVED Flange Nut M8 Silencer Bracket (Front L)

823-008-1250 161-156-1310
Metal Magic Sleeve ; 1A0-156-5421 Cap Bolt M8x20
Stainless Sleeve ; 1A0-156-5451 800-208-5020

Titanium Sleeve : 1A0-156-5481 4
@)@/

Silencer Bracket (Rear) 8
—_ Cap Bolt M8 x 15

161-156-2300
Flange Nut M8 800-208-5015

823-008-1250

b
Cap Bolt M8x15

__-800-208-5015
Cap Bolt M8x20 g .
800-208-5020 Silencer Bracket (Front R)
161-156-0310

Flange Nut M8

© 823-008-1250
g\
Cap Bolt M8x15

800-208-5015

Tri-Oval Silencer Assy Left
1A6-156-542B Metal Magic Sleeve
1A6-156-545B Stainless Sleeve
1A6-156-548B Titanium Sleeve

Silencer Band Rubber
896-005-2903

Tri-Oval Silencer Band
162-38R-7500

Tri-Oval Silencer Assy Right
1A6-156-5421 Metal Magic Sleeve

1A6-156-5451 Stainless Sleeve
1A6-156-5481 Titanium Sleeve

Lot Number

Silencer Band Rubber
896-005-2903

Stainless Tailpipe
115-156-5450

Clamp Band (47-51)

! | SD#26R :
SD#26L | | |
138-138-4326L | , 138-138-4326R |

/

e e emeoloo__l ' 162-777-4751

_________________



